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Ql. Max 3X, + 4X, +4X,
Such that, 2X; + 3X, + 5X, <8
5X, + 2X, + X5 < 12
Xy +2X, + X, = 12

Please convert it into dual [5]
Q2. Zp = Max 6X; + 5X,
Such that, X; + Xz = 5 :
3X, +2X, < 12 [CO2]
If given Z,, and Z; represents primal obJectlve value and dual objective value then show
Z,< 7, . R [5)
Q3. Consider Q2 for identifying which feQ_gﬁ:r;é:' lsmore profitable [CO4]
| [5]
Q4. For Q2, which sen31t1v1ty analyms 1s requrred either changing basic or non basic in objective function.
Justify it. R [CO4] [5]

Q5. Apply North west comer or or Minimum cost or VAM for given data as below. Why these are used?
[CO2] [4+2]

' a (Supply

' f)-oints)
250 3 1 7 4
350 2 6 5 9
400 8 3 3 2
200 {300 350 150 b;
(demand

poinis}




Q6. Apply MODI method for above table. [CO4][5]
Q7. (i} Can we solve transportation problem with simplex method? [COI1][2.5]
(it} Will you iterate from beginning or last iteration onwards if by changing cost of basic or

non basic shows C; — Z; >0 ?(Here iteration refers from simplex table) [CO1]12.5]




